Answers to Exam 3

1. C

2. A

3. D

4. A

5. D

6. D

7. B

8. A

9. D

10. A

11. A

12. A

13. B

14. A

15. B

16. C

17. A

18. C

19. C

20. D

21. A

22. D

23. B

24. B

25. D

A. H0: (Psychology ( (Engineering
H1: (Psychology > (Engineering 
( = mean language skills
One tailed

B. H0: (Handkerchiefs = ( No Handkerchiefs
H1: (Handkerchiefs ( (No Handkerchiefs
( = mean level of introversion
Two tailed

C. H0: (Computer Savvy ( 2.87
H1: (Computer Savvy > 2.87
( = mean GPA
One tailed

D. H0: ( = 0
H1: ( ( 0
( = correlation between liking math and psychology
Two tailed

26. 68.54 to 83.46

27. Write the hypotheses
Determine the tails
Specify (
Determine the appropriate test
Calculate the statistic
Determine critical value
Decide whether to reject H0 or not

28. H0: (Large Heads ( 50
H1: (Large Heads > 50
( = mean intelligence
One tailed
( = .05
Population standard deviation unknown, so t-test
t(35) = 1.000
Critical t = 1.690
Fail to reject H0
29. H0: (Talk ( 3
H1: (Talk < 3
( = mean response to Talk question
One tailed
( = .05
Population standard deviation unknown, so t-test
t(25)=7.429
Reject H0
